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G,,-f What is the equation for this chart? Remember yesterday! What is the equation for this chart? Remember yesterday!
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&F What is the y-intercept of the line Riven by L What Is the slope of a line that goes through points:
5x =Ry =487 (-5.3)and (2, 4)?
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€ @ Days!

What is 1 of 67 Which is greater? Circle the slope! Combine like terms:
Use <, = or= Underline the y intercept!
4n-2n=
-6__-10 Y=8x-5
What two numbers have Solve: Use the distributive property: | What are the coordinates
asumof 7 and a product of the following points?
of 127 5x-2=13 HEEL ) Laf
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Positive or negative What is the slope of Graph on the number line: Solve for y
slope? (3.2) and {-4,2)
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What is the y intercept!! Solve Place on the number line: Q Wh]r is 242=5
) T 10+ 4= 3% like your left foot?
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What do you see?
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FIND THE SLOFE OF EACH PAIR OF COORDINATES. REMEMBER CHANGE IN Y OVER CHANGE IN X1t
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Objective: SWBAT find a line’s X and Y intercepts

WHAT DO INTERCEPTS MEAN????

@. Burning {.'lldrie: hmmhm:m 10 ﬁlﬁnﬁrpﬂ"m{uutu
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mmn:mnbihngmd?juahnﬁpnrmmh—]muhﬂng
"His goal mtnbmuppmxnnm:hrﬂﬂ calories daily. This

- situgtion can be represented by the equation 10x + 7.5 = 420
where x is the number of minutes spent mountain biking ‘arid
yis lht.umub:rufnunﬁuqb:rdm-lme—shml

e. Find the mtarﬁapuufdn nftiwaqm.um .
Graph*the equation. b’ _

b. What do the intercepts mean in this siation?

c. Mutmthrupam'bhuumbmafmmufbﬂung
and skahngﬂmmanmulddnmmchhngml '

-
Rj MOVIES Mrs. Hodges
spent $80 on movie tickets
and drinks for her son and
his friends. The total cost of x

movie tickets and y drinks is
represented I:nj.!t]'nehm-:‘r.inn
Bx + 4y = B0,

1. Describe a method you could
use to graph the function.
Then graph the function.

1. What do the points (0, 20) and (10, 0) represent?

Rabbit Hutch The dage that you kiep your rabbit in his a
perimeter of 118 inches. Let x be the cage’s width (in inches) -
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Examples 1and 2 State the 2- and y-intercepts of each funection,

I 5x + 4y = 20 2 6x-2y=18 3. —3r+6y=12 '
§ —dx-6y =24 5. x4 10y = 15 6 3x-dy=12 |

Examples 3andd4 7. DISPLAYS A store sells juice boxes in packages of 6 boxes and 8 baxes.

They have 288 total juice boxes. This is represented by the function !
6x + By = 288. Graph the function. Then interpret the x- and y-intercepts.
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25, @ WRITE MATH Describe two different methods for graphing a
function. Which method dg you prefer o use? Why?

Wietoh the aquation with fts intercepts. -

a7, ?}’=33‘¢A‘_ - 28, Tx=dy+ 3% 74, .i‘_-,r-_'?_:-'r:-gg
A. x-intercepl: 4 iy B. x-imtercepi: -4 C. xintercept: 7 'l

peimercept: ~7 . . J-intercept: 7 y-intercept: 4
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FIND THE SLOPE OF EACH PAIR OF COORDINATES. REMEMBER CHANGE IN Y OVER CHANGE IN X!
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Name:

Exit Ticket
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supplies for a school fundraiser, Whatis |
hetecep of the funcion? ,!
A, 60 C 50 |
B. <50 D. &0

@

The y-intercept of which of the following |

functions is 57
=% 4x-5y=30 Il
Q6 dr-6y=30 t .
 H dr+5y=30 5
0L tr46y=3 '

E @ Days!

Criteria for Success:

U Try every problem
U Show your work (MARK UP THE TABLES!!)

U Find the correct answer

Peitali s i
Which of the following is the graph o
CD thefuncion 26 4 3y = §7 |
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